Village of Morton Grove, Cook County, Ilinois

2025 Material Purchasing Program

Bid Tabulation

Bid Opening: December 10, 2024

	ing. December 10, 2024				
PAY ITEM	PAY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST
1	Transport & furnish CA 6 Material	Ton	2350	\$21.25	\$49,937.50
2	Transport & Furnish CA 7 Material	Ton	1820	\$29.20	\$53,144.00
3	Transport & Furnish FA 2 Material	Ton	1350	\$26.77	\$36,139.50
4	Hauling & Disposing of Excavated Material	Each Load	190	\$347.68	\$66,059.20
5	Hauling & Disposing of Excavated Material / Round Robin	Each Load	230	\$294.68	\$67,776.40
6	Hauling & Disposal of Stump Grindings	Each Load	35	\$396.44	\$13,875.40
		TOTAL PROPO			\$286,932.00
	A	S-READ PROPO	SAL AMOUNT		

Engineer's Estimate

Apparent Low Bidder:G&M Trucking ompanyApparent Low Bid Amount:\$287,366.50Engineer's Estimate of Cost:\$286,932.00Difference:\$434.50

David Torres' Trucking Company 4603 Mumford Drive Hoffman Estates, Illinois 60192		G&M Trucking ompany 8811 Kathy Lane Des Plaines, Illinois 60016		BIDDER #3 ADDRESS CITY,STATE,ZIP		BII AI CITY
UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST
\$34.00	\$79,900.00	\$23.90	\$56,165.00		\$0.00	
\$40.00	\$72,800.00	\$32.70	\$59,514.00		\$0.00	
\$32.50	\$43,875.00	\$23.25	\$31,387.50		\$0.00	
\$425.00	\$80,750.00	\$333.00	\$63,270.00		\$0.00	
\$325.00	\$74,750.00	\$278.00	\$63,940.00		\$0.00	
\$765.00	\$26,775.00	\$374.00	\$13,090.00		\$0.00	
	\$378,850.00		\$287,366.50		\$0.00	
	\$378,850.00		\$287,366.50			

DDER #4 DDRESS ,STATE,ZIP	BIDDER #5 ADDRESS CITY,STATE,ZIP		BIDDER #6 ADDRESS CITY,STATE,ZIP		BII AI CITY,	
ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		

DDER #7 DDRESS ,STATE,ZIP	BIDDER #8 ADDRESS CITY,STATE,ZIP		BIDDER #9 ADDRESS CITY,STATE,ZIP		BIE AI CITY,	
ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		
\$0.00		\$0.00		\$0.00		

DER #10	
DDRESS	
,STATE,ZIP	
ITEM C	OST
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00
	\$0.00